
3

9

4

2

8

2

5

6

7

1

10

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 TUBE-2-2-30 2" Square Steel Tube, 30" 6
2 TUBE-2-2-46 2" Square Steel Tube, 46" 5
3 CB-ZP-0313-18-2_50 5/16-18 x 2.5" Carriage Bolt 62
4 HN-ZP-0313-18 5/16-18 Hex Jam Nut 62
5 HNF-M8 Hex Nut Flange, M8 24
6 CRP113-05 PRO Table Connection Bracket 6
7 TS-M8-16 T Stud, M8 x 16mm 24
8 TUBE-2-2-50 2" Square Steel Tube, 50" 2
9 CRP113-06 Leg Crossmember Joining Plate 28
10 H172 M16 Leveling Foot 6

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
CNC ROUTER PARTS.  
ANY REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT THE WRITTEN PERMISSION 
OF CNC ROUTER PARTS IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

NEXT ASSY USED ON

APPLICATION

DIMENSIONS ARE IN MM
TOLERANCES:
FRACTIONAL  .05
ANGULAR: MACH .05 BEND .05
ONE PLACE DECIMAL    .1
TWO PLACE DECIMAL  .01

INTERPRET GEOMETRIC
TOLERANCING PER: ANSI

MATERIAL

FINISH

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

COMMENTS:

DATENAME

TITLE:

SIZE
B

DWG.  NO. REV

WEIGHT:SCALE: 1:10

UNLESS OTHERWISE SPECIFIED:

B-05

SD 11/27/2013

PRO4896 Leg Kit

SHEET 1 OF 2

CRP413-00-4896
DO NOT SCALE DRAWING

CNC ROUTER PARTS



Splice location

1600mm extrusion

1250mm extrusion

46" tube

50" tube

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
CNC ROUTER PARTS.  
ANY REPRODUCTION IN PART OR AS A 
WHOLE WITHOUT THE WRITTEN PERMISSION 
OF CNC ROUTER PARTS IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

NEXT ASSY USED ON

APPLICATION

DIMENSIONS ARE IN MM
TOLERANCES:
FRACTIONAL  .05
ANGULAR: MACH .05 BEND .05
ZERO PLACE DECIMAL   1
ONE PLACE DECIMAL    .1
TWO PLACE DECIMAL    .01
THREE PLACE DECIMAL  .001

INTERPRET GEOMETRIC
TOLERANCING PER: ANSI

MATERIAL

FINISH

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

COMMENTS:

DATENAME

TITLE:

SIZE
B

DWG.  NO. REV

WEIGHT:SCALE: 1:12

UNLESS OTHERWISE SPECIFIED:

B-05

Spencer 12/3/2013

Recommended Mounting 
Configuration

SHEET 2 OF 2

CRP413-00-4896

DO NOT SCALE DRAWING

CNC ROUTER PARTS


	Sheet2
	Drawing View2

	Sheet3
	Drawing View3


